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Sottrazione (orizzontale) Nome:
Risolvi ogni problema. Risposte
1
) 741 - 2 =
2.
2 5.496 - 2 = 3
4,
3 4.704 - 963 =
5.
4 9.453 - 42 = 6.
7.
5 8.774 - 7.247 = g
9.
6) 89 - 4 =
10.
7) 206 - 97 = 11,
12.
8 7.883 - 804 =
9 230 - 31 =
100 84 - 83 =
11) 55 - 2 =
12) 6.193 - 91 =
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ﬂh Sottrazione (orizzontale) Nome:

Soluzioni

Risolvi ogni problema. Risposte

1 739
1) 741 - 2 = 739

2 5.494
2) 5,496 - 2 = 5.494 3. 3.741

4 9411
3) 4.704 - 963 = 3.741

5. 1.527
4 9.453 - 42 = 9.411 6. 85

7 109
5 8.774 - 7.247 = 1.527 . 7079

9 199
6) 89 - 4 = 85

10 1
7) 206 - 97 = 109 11. 53

12 6.102

8 7.883 - 804 = 7.079

9 230 - 31 = 199
10) 84 - 83 = 1
11) 55 - 2 = 53

12) 6.193 - 91 = 6.102
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Sottrazione (orizzontale)

Nome:

Risolvi ogni problema.

Risposte

199 1 739 85 109
3.741 1.527 9.411 5.494 7.079 1
2.
1) 741 - 2 =
3.
4.
2) 5,496 - 2 =
5.
3 4.704 - 963 = 6.
7.
4) 9.453 - 42 = .
9.
5 8.774 - 7.247 = o
6) 89 - 4 =
7) 206 - 97 =
8 7.883 - 804 =
9 230 - 31 =
10) 84 - 83 =
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